October 2 Math 2306 sec 51 Fall 2015

Section 4.4: Method of Undetermined Coefficients
Using superposition as needed, begin with assumption:
Yo=VYp + -+ Vp,

where yp, has the same general form as g;(x).

Case I: y, as first written has no part that duplicates the
complementary solution y.. Then this first form will suffice.

Case IlI: y, has a term y,, that duplicates a term in the complementary
solution y.. Multiply that term by x”, where n is the smallest positive
integer that eliminates the duplication.
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Find the form of the particular soluition

y' =2y +5y =€ +7sin(2x)
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Solve the IVP

y'—4y' +4y=8x—-4 y(0)=3, y'(0)=-2
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Solve the IVP
y'—y=4e* y(0)=-1, y'(0)=1
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